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PART A — (10 x 2 = 20 marks)
1.  Justify the need of a firewall in a Computer Network.
2.  What is a Domain Name server?
3.  Define the Protocol POP3.
4.  Mention the name of any two email client software.
5.  Specify the basic tags used in HTML scripting.
6. Name the element in HTML that inserts a horizontal rule.

7.  What is the property of the event object that specifies whether to continue
bubbling the current event?

8. What are the events fired when the user clicks the mouse on a HTML form?
9.  Specify the advantages of servlets.

10. What is JDBC?
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PART B — (5 x 16 = 80 marks)

(i) Explain MIMI. Specify any five predefined MIME content type

_ along with. sub-type and description. 8
(i) Discuss about IPV4 address classification. (8)
Oor
() What is CGI and state the purpose of it. Explain with a get and post
request. (6)
(ii) Describe the Internet layer along with the structure of an IPV4
datagram. 10)
Describe RMI with a concrete implementation by solving any example
problem of your choice. (16)
' Or
() Explain the basics of Socket class in Java. 8)

(1) Write a java program to scan for the local UDP ports running in the
host machine. (8)

(1)  Write an HTML script to produce a table for five numbers of objects
with the following information: make of the car, cost, mileage.  (8)

(i1) Discuss about functions in Javascript. 8)

Or

Write an HTML script with javascript embedded for the Craps game
simulation. The rules of the game are as follows:

A player rolls two dice. Each die has six faces. These faces contain one,
two, three, four, five and six spots respectively. After the dice have come
to rest, the sum of the spots on the two upward faces is calculated. If the
sum is 7 or 11 on the first throw, the player wins. If the sum is 2, 3 or 12
on the first throw (called craps), the player loses. If the sum is 4, 5, 6, 8, 9
and 10 on the first throw, that sum becomes the player’s “point”. To win
you must continue rolling the dice until you “make your point” (i.e, roll
your point value). The player loses by rolling a 7 before making the point.

(16)

(1) Demonstrate the advantage of CSS with an example HTML script.
(8)

(i) Use CSS absolute positioning, on mouse move and event.x/event.y
to have a sentence of the text follow the mouse as the user moves
the mouse over the web page. Disable this feature if the user double
clicks(ondbclick). » (8)

Or
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(1)  How filters can be used to achieve special effects? 8

(1) Illustrate data binding with the TDC to update the contents of a
span element. : (8)

(1)  Describe the life cycle of a servlet. (8)
(i) Draw and explain the basic structure of a three tier application. (8)_
Or

[lustrate the concept and working of cookies with a Java Servlet and
HTML Script example. (16)
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